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Run 5572 mpswise, BCM: All Run 5572 mpswise, BCM: Beam OFF
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Run 5572 mpswise, lasPow: All Run 5572 mpswise, lasPow: Beam OFF
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Run 5572 mpswise, bpmAx: All

[

x10
— — Enitrigs: 236552
140 B Mean: D0DE2 +/- 0.0003
150 u Sid Dev: 0.1284 +- 0.0002
100 —
80—
60— ]
40—
20—
'D _I | | | | I | — | | 1 1 | | | | | I |_ | | | I | | | I |
0.8 0.6 0.4 0.2 0.2 0.4
bpmAx
Run 5572, mpswise, bpmAx: Beam ON, Laser ON
6000 — .
— Entries: 110621
: Mean: 00415 4~ 0.0000
R000 —
- Sid Dev: (L0052 +~ 0.0000
4000 [—
3000 —
2000 —
1000 |—
0 N T N |
0.01 0.02 0.07

1200

1000

800

600

400

200

5000

4000

3000

2000

1000

Run 5572 mpswise, bpmAx: Beam OFF

Enlrie=: 17809

Mean: -0.4170 «/- 00011

Sid Dev: 01514+ 0.0008

L /1IN ; I I T
0.8 0.2 0.4
bpmAx

Run 5572, mpswise, bpmAx: Beam ON, Laser OFF

Eniries: 885541

Mean: 000415 +/- (L0D0G

Sid Dev: 00055 - 0.0000

I N A I B I

0 0.01 0.02 0.03 0.04 0.05 0.08 0.07



BO000

50000

40000

30000

20000

10000

6000

5000

4000

3000

2000

1000

Run 5572 mpswise, bpmAy: All

E _ Entries: 236952
[ Mean: 06343 +/- 00004
[ Sid Dev: 01738 +- 00003
_I | | | 1 I 1 —l—-"l_""l'n_l‘_l"-—l— I | | 1 | i | 1 | | | I 1 | |

0.4 0.2 0 0.2 0.4 0.6 0.8 1

bpmAy
Run 5572, mpswise, bpmAy: Beam ON, Laser ON
Entries: 110621

Mean: 006E16 +i- 0.0001

Sid Dev: 0.0240 +- 0.0001

,:IIII|IIII|IIII|IIII|IIII|IIII|I

m_
&
=
o
o
o
&
=
=4
=
=4
e
=
B

1200

1000

800

600

400

200

7000

6000

5000

4000

3000

2000

1000

Run 5572 mpswise, bpmAy: Beam OFF

Enlrie=: 17809

Meari: 0O0EED +/- 0.0014

Sid Dev: 01860 - 0.0070

codl i

ﬂ.l [
0.8 1

bpmAy

5
Ju

0.4 0.6

Run 5572, mpswise, bpmAy: Beam ON, Laser OFF

Enitries: 83551

Mean: 006612 +/- 0.0001

Sid Dey: 00285 +- 0.0001

N B A A A A B A I B A S i R

0.5 0.55 0.6 0.65 0.7 0.75 0.8 0.85
bpmAy



220
200
180
160
140
120
100
BO
60
40
20

5000

4000

3000

2000

1000

[

Run 5572 mpswise, bpmBx: All
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Run 5572 mpswise, beam ON, laser OFF
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Run 5572 mpswise, beam ON, laser ON Run 5572 mpswise, beam ON, laser OFF
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Run 5572 mpswise, beam ON, laser ON Run 5572 mpswise, beam ON, laser OFF
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Run 5572 mpswise, beam ON, laser ON
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Run 5572 mpswise, beam ON, laser ON Run 5572 mpswise, beam ON, laser OFF
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